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W̃(Θ) = Ŵ(Θ, A∗(Θ)).

F	�	�� �
�	� ���� ���
 �
������
	 
��	�	�	��	 �
�
��J ���	�����
��� ����
��	�	�	��
 ���� �
����	��
����

I�
������ �	�	� x = (x1, . . . , xl) �	��
� �������� �
�	� � �
����	��
� �����
���	 ����� �
�
���� ����	J� ��	��� � �����������	�
� ����	�	d

xj =

k∑

i=1
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� Ũ(Θ)�

I��	�	�	���
 ����� 
����
� ���	�����
��� �
������	�� ����
���
 �
 ��� ��
	
�����	�	�	��	 ���� �
����	��
��� �
��
�
	� �	����
���� �
�	�:��� �����@	��

��
��
���� ���
�	���� � �����������	�
� ��
�
���	��
� ����	�	�

;�����	 �����	��	� ��� ��	<�	� �
����	�:�� � ����	�	 �����	� �
��	�����
	
����
�
��

��	 �
����	����
�� ���
���
 �
����	�:�
 �	��� ������� ���	� ����
�
�		 
���
� � �����:�� a
��� ����� C 
��� �
����	����b� �
��� ����	��:� ����
�	 ��	J� �� 
�@� ���	�	�
�� �� 
�@� ������
	�� �����	��
�� `�� ��
� �����
�	��

 �
����	�:�
 �
����	����
� � ����� ����
� ����� 
��������	�� lJ�
	

���
�	��	 
� ����
� �����:�� ����
��� � �
��
��
��� �

�����:�� ������	��

�����J ����� � ��	�
���	���
 � ����	��J �
����	�:�� �� ����	�

?
��	�����	 ���	�	��� ���� �
����	��
��� �� ����������	���J �
����	�:�J
�	 ��� 
��
�����
d � 
��
� ��
�
��� �

��
	��
 �	�
�
�
	 �
����	��	 ���	�	�
�
�
����	����
�� � ����
� C �
��
��
��� ��
 ������
 � ������	��� �
�������J�
@��� �������� ? �	�������	� � �������
��� 
� �

��
<	��
 ��
�
��� ���	�	�
�
����	��:	� � ����
����	�� ��� ���� �
���
�
 �
�	� �����������
 ���������
��
�	�� ����������	��
� �
����	�:���

g����:�
� ��� �
�
�
� ����������	���
 �
����	�:�
 ����������� �
�����	�
	��� ����	��� ���	�����
��� ��	 �
����	����
� Wi ��
�
�:�
������ ���� ������

k



`�� ��
� ��	 ������ � 
�
@�	 � �����������	��J ����	��� ������
J��
 �� 
�

�� ���������:�� 	���
�
 ����	��
� �
 	��� ����������	��
 ����	 � ��	<�

 ���
�
���
 �
����	�:�
�

B���	��� �
����	����
� � �����������	�
� �
�	�� ����� ��
�
�:�
������ ����
������ 	��� �����	�	�	��	 ���� �
����	��
��� 
��
	��
 ����������� �
 	��� ��
��
�	��
�
	� ���
��
�
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� Û � _	������	���
� �
����
�� ���
� �����
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ã∗ = R(Θ0, A∗).
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